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L. Analysis of specific clauses in mwn
a. Distinction between: forgetting existence of naw (1 nxron for all) and forgetting which day it is (nkXon per naw)
i. Source (7138 72 737 oW 177): v1 vs. v. 2 — (N1W vs. MNav) —
1. Resolution: v.11is 1 nvnw for all mnaw (1 nron for all); v. 2 is many m7nw (1 nron for each naw)
2. Challenge (»7217): opposite implied; v. 1 implies n1nw for each naw; v2 is 1 n71'nw for many Mnaw
b.  Distinction between: one who forgets the day (nkon per naw) and one who forgets nar%n (NRoN per NIRYN IR)
i. ~790 /1. in 2" clause (Mawy naw Y3 HY 27'n), he ceases his activity when he finds out that it is naw
1. And:in 3 clause (naxYn ar 93 5y 2n), he ceases violating naw when he is reminded about maxr5n
2. Challenge (279): in both cases, it is the awareness of both naw and narn that causes him to cease
ii. 2771270 is for forgetfulness; in 2" clause, he forgot 1 thing (the day); in 3" clause, he forgot many (maxn)
II.  General discussion: what is the source for maron ,>n (i.e. liability for each naxYn ar)?
a.  Snwwv. 3 - Yonn establishes multiple liabilities — can’t be for nn'n (context)>apply to mxron
i And: nnv refers to “death by money” i.e. multiple payments for nxon nuavp
ii. Challenge: why doesn’t YRmw utilize 1n1’7’s source?
1. 277 v. 6 (D71270 n9R) alludes to 39 mar (but see MYwrv version in boxed text)
a. And:v.7 teaches that there is separate liability for plowing and harvesting
b.  But: X"10 that only those two are outstanding; all other maxrYn generate one combined nxvn
c.  Therefore: v. 5 teaches, via the rule of ...5532 'nw 127 that each narYn has its own nxron avn
2. Answer: YRV reads nyan’s explicit mention as does "oV "1 — nR¥? WYY (nyan does not have nmn 2vn)
iii. Challenge: why (then) doesn’t YR1nw utilize 01 *1’s source for maron M n?
1. oy 1. v. 8 — sometimes liable for many (nnn), sometimes only liable once (nnxn)
a. Per: n"17’s explanation: nnR is the full narYn, NNk~ is a sufficient MYV (e.g. "NYNV”"N "DV”)

i And: n1n is mar; mnn alludes to MT9n
ii. And: mn ®nw nnr — when he knows it is naw but forgot marn (3¢ clause in our nwn)
iii. And: nnR 0w M — when he knows marYn and forgot naw (2nd clause in our mwn)

2. Answer: YR doesn’t agree with that interpretation of nin ®X'nw nNnX and nNnNR XNV NN
II. X17's question of jam "1: what if he forgot both (maxrYn and the day) — single or multiple nxon?
a. Answer: since he forgot naw, only liable for one
b.  Counter: just the opposite — since he forgot maron, should have multiple liabilities
i »swx ’1. we should see what motivates him to stop — when he is notified about naw or about maron
ii. Challenge (81227): they are tied together; if we tell him it is naw, he is reminded of naxYn MR and vice-versa
1. Rather: in either case, he is only liable for one (naw nuw)
2. Challenge: enumeration in next mwn implies maximum amount of mron
a.  But: according to this approach, only way to have multiple mxon is maxr>n nanaw1 naw P

i. This works: according to 13Ny "1 — could forget about n13; to 92w, must forget about 185
ii. Therefore: what is his naw pm?
iii. Answer: he remembers pninn Mo'r (according to ¥”, who holds that xn»1xT Pmnn)
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